Solution Solving Session Five

Problem 1:
Since 
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By cylindrical symmetry,
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As I is uniformly distributed over the conductor cross section, 
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 for a cross section area 
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Problem 2:
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Problem 3:
Fields 
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 and 
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 due to the straight conductor are given by 
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with their directions as shown in figure. Hence the force on the side 
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And the force on 
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 is the same (because the current and the field are reversed). By symmetry, there us zero force on either of the other two side. Hence, 
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Problem 4:
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For 
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 (y-z plane), 
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, a constant vector of magnitude 
[image: image19.wmf]3

 A/m2.

Problem 5:

[image: image20.wmf]H

J

curl

=

, 
[image: image21.wmf]f

a

r

H

3

=


Or in cylindrical coordinates, we have, 
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